
1) Increase 280 by 1/35

Answer: ____________

2) Write 10 x 10-3 as a normal number.

Answer: ____________

3) 18 x 100

Answer: ____________

4) 'What is the probability of rolling a 
number less than 5.when rolling a dice

Answer: ____________

5) A number was shared in the ratio 
33:11. The smaller share was 38. 
What was the total amount shared?

Answer: ____________

6) Find area of square 
having each side (s)
equals 232 in

Answer: ____________

7) 788.3 + 238

Answer: ____________

8) 120.84 ÷ 15.9

Answer: ____________

9) (-454) + (-546)

Answer: ____________

10) Factorise 9s2 + 28s + 19

Answer: ____________

11) 19/6 + 8/2

Answer: ____________

12) 536.07 ÷ 32.1

Answer: ____________

13) Solve 6s2 + 9s - 7 = 0
Round your solutions to 1 decimal 
place.

Answer: ____________

14) Find area of square 
having each side (s)
equals 308 cm

Answer: ____________

15) Find area of square 
having each side (s)
equals 308 cm

Answer: ____________
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16) Find area of square 
having each side (s)
equals 308 cm

Answer: ____________

17) 864 - 764

Answer: ____________

18) 49 x (-48)

Answer: ____________

19) 42 + 18 + 8

Answer: ____________

20) Round 0.6560373 to the nearest 100

Answer: ____________

21) Find the median of the following set of data:

25, 37, 40, 40, 11, 33, 12, 9, 22, 6, 
40, 26, 22

Answer: ____________

22) Convert the following fraction into a 
mixed number: 24/3

Answer: ____________

23) Round 13.478536 to the nearest 
whole number.

Answer: ____________

24) 4   2/16 - 1   14/19

Answer: ____________

25) 319 ÷ 22

Answer: ____________

26) Find the mean of the following set of data:

8, 0.2, 1, 15

Answer: ____________

27) An amount was decreased by 10% to 
$467.43. Find the original amount.

Answer: ____________

28) 629 ÷ 17

Answer: ____________

29) 629 ÷ 17

Answer: ____________

30) Find the median of the following set of data:

40, 15, 7, 3, 35, 33, 11, 23, 16, 6, 
14, 21, 28, 28

Answer: ____________
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Total: ___ / 30
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Answers:

1) 288 2) 0.01 3) 1800 4) 2/3 5) 152 6) 53824in 7) 1026.3

8) 7.6 9) -1000 10) (9s + 19)(s + 1) 11) 71/6 12) 16.7 13) s = 0.6 or -2.1 14) 94864cm

15) 94864cm 16) 94864cm 17) 100 18) 19) 42 20) 0.66 21) 12

22) 8 23) 13 24) 259/152 25) 14.5 26) 6.05 27) $420.69 28) 37

29) 37 30) 17
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